FER 5 02408 5098

RUR)—hvyT AUSR

=" 2 29VAMI WIH37° 5 FU0 3-R

g5z K % ouT IN GR HDCP NET =

B HE R= 36 37 13 8.0 65.0

#E HH AR 38 37 15 1.0 68.0
3 |XKH AR 39 40 19 10.0 69.0
4 BB & 37 39 16 6.0 70.0
5 |FI K# 37 37 14 3.0 71.0
6 |WFAT 2 40 37 11 5.0 72.0
1 |XK&E =B 39 39 18 6.0 12.0
8 |XH #Ht# 41 40 81 9.0 72.0
9 |E 2 44 40 84 11.0 13.0
10 |IR 43 41 84 10.0 74.0
1 3kE 39 37 16 1.0 75.0
12 (&N % 40 38 18 3.0 75.0
13 | &= 39 42 81 6.0 15.0
14 |H¥ i 39 43 82 1.0 75.0
15 |MTH RE 45 40 85 10.0 75.0
16 |/Mk —58 41 44 85 10.0 75.0
17 | "BE BF 41 44 85 10.0 75.0
18 | BC 42 43 85 10.0 75.0
19 IWITF 5B 39 40 19 3.0 76.0
20 |ER X¥® 43 44 87 10.0 71.0
21 |Bpih FH 40 43 83 5.0 18.0
22 WE RE 50 39 89 11.0 78.0
23 |RA X 45 44 89 10.0 79.0
24 |n[E —E 45 41 86 6.0 80.0
25 [R5 44 46 90 10.0 80.0
26 |£FE XHA 47 44 91 10.0 81.0
21 |EH A 45 47 92 11.0 81.0
28 |l EA 51 41 92 11.0 81.0
29 |HTH X 47 40 87 5.0 82.0
30 |#HE EZ 49 43 92 10.0 82.0
31 | kX s 43 45 88 5.0 83.0
32 |TH #aMR 43 46 89 5.0 84.0
33 [HF BE 48 45 93 9.0 84.0
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FER 5 02408 5098

RUR)—hvyT BYIR

=" 2 29VAMI WIH37° 5 FU0 3-R

[t K ouT | IN GR HDCP | NET =
Bl BE Ak 41 41 82| 170 65.0
#B |kH#E AF 51 45 96 | 30.0 | 66.0
3 WA EZ 49 38 87 | 19.0 | 68.0
4 o s 46 43 89 | 21.0| 68.0
5 |&& M 41 46 87| 18.0 | 69.0
6 |E&H* BHE 43 43 86 | 16.0 | 70.0
7 T &N 48 40 88 | 18.0 | 70.0
8 |B®& #= 42 44 86 | 14.0| 72.0
9 |km == 45 43 88 | 16.0 | 72.0
10 |8%A& HE 51 40 o1 | 18.0 | 73.0
11 |BE@ f0s 45 49 9 | 21.0| 73.0
12 IR B 49 45 94 | 200 | 74.0
13 |E =R 39 48 87| 12.0| 75.0
14 |%F#%E RE 46 42 8 | 13.0| 75.0
15 5@ B2E 47 41 88 | 12.0| 76.0
16 |Bd a5 47 42 89| 120 77.0
17 &% 8 49 41 90 | 13.0| 77.0
18 |t FEBF 50 50 100 | 23.0| 77.0
19 @ X 48 53 101 | 240 77.0
20 |B Eh 47 45 92| 140 78.0
21 |NEN +— 48 44 92 | 130 79.0
22 |hE A 50 45 9% | 16.0 | 79.0
23 |AR B= 47 47 94 | 14.0 | 80.0
24 |HEA HF 57 40 97 | 17.0 | 80.0
25 |FEN BB 48 49 97 | 17.0 | 80.0
26 |FEME g 53 50 103 | 23.0 | 80.0
21 A i 57 57 114 | 320 820
28 |BiE AE 53 49 102 | 17.0 | 85.0
29 |KE FA 49 52 101 | 120 | 89.0
30 |ER K% 55 51 106 | 13.0 | 93.0
31 A f— 62 54 116 | 21.0| 950
OPEN [JIE FZ 36 36 72

KA 42 46 88

B EF 42 39 81
GUEST |tBg = 44 37 81

BA HZ 50 45 95

RO IEER 49 49 98

AR BAE 47 59 106
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